
The Natural Logarithmic Function 

ln 𝑥 = ∫
1

𝑡
 𝑑𝑡, ∀𝑥 > 0

𝑥

1

 

:equals 𝑓(𝑥)if  𝑓′(𝑥)Find Q1) 

c)ln(5𝑥2 + 1)3 b)ln(𝑥4 + 1) a)ln(9𝑥 + 4) 

f)ln √4𝑥2 + 7𝑥
3

 e)ln(4𝑥3 − 𝑥2 + 2) d) ln √7 − 2𝑥3 

i)ln √
4𝑥2+1

4𝑥2−1
 

  h) ln √𝑥 + √ln 𝑥 g) x ln 𝑥 

l)ln(ln 𝑥) k)ln √4𝑥 − 5
3

(3𝑥 + 8)2 j)ln(5𝑥 − 7)4(2𝑥 + 3)3 

  m)ln
√𝑥2+1

(9𝑥−4)2 

 

Function ExponentialThe Natural  

𝑒𝑥 = 𝑦 ↔ ln 𝑦 = 𝑥 

Q1) Find 𝑓′(𝑥) if 𝑓(𝑥) equals: 

c) 𝑒1−𝑥2
 b) 𝑒3𝑥2

 a) 𝑒−5𝑥 

f) 𝑒√𝑥+1 e) 
1

𝑒𝑥+1
 d) √1 + 𝑒2𝑥 

i) √𝑒2𝑥 + 2𝑥   h) 𝑥2𝑒−2𝑥 g) 𝑥𝑒−𝑥 

l) 
𝑒𝑥−𝑒−𝑥

𝑒𝑥+𝑒−𝑥 k) 𝑒√𝑥 + √𝑒𝑥 j) 
𝑒𝑥

𝑥2+1
 

o) sin 𝑒5𝑥 
 

n) ln
𝑒𝑥+1

𝑒𝑥−1
 m) 𝑒𝑥 ln 𝑥 

p) ln √𝑒2𝑥 + 𝑒−2𝑥 
 



n and Integration (for ln and exp.)Differentiatio 

∫
1

𝑢
 𝑑𝑢 = ln|𝑢| + 𝑐,       𝑢 ≠ 0 

∫ 𝑒𝑢𝑑𝑢 = 𝑒𝑢 + 𝑐 

Q1)Evaluate: 

c) ∫
1

7−5𝑥
𝑑𝑥 b) ∫

1

8𝑥+3
𝑑𝑥 a) ∫

𝑥

𝑥2+1
 𝑑𝑥 

f) ∫
(2+ln 𝑥)3

𝑥
 𝑑𝑥 E) ∫  

𝑥−2

𝑥2−4𝑥+9
𝑑𝑥 d) ∫

𝑥3

𝑥4−5
𝑑𝑥 

i) ∫
1

4−5𝑥

0

−1
 𝑑𝑥   h) ∫

1

2𝑥+7
 𝑑𝑥

1

−2
 g) ∫

𝑥2

𝑥3+1
 𝑑𝑥 

l) ∫(1 + 𝑒−3𝑥) 𝑑𝑥 k) ∫(𝑥 + 𝑒√𝑥) 𝑑𝑥 j) ∫
2

√𝑥(√𝑥+4)
 𝑑𝑥

4

1
 

o) ∫ 𝑒2𝑥+3 𝑑𝑥
1

0
 

 

n) ∫ 𝑒−4𝑥 𝑑𝑥
3

1
 m) ∫

ln 𝑥

𝑥
 𝑑𝑥 

 

r) ∫(1 + 𝑒𝑠𝑖𝑛𝑥)𝑐𝑜𝑠𝑥 𝑑𝑥 q) ∫ 𝑥𝑒𝑥2
 𝑑𝑥 p) ∫

𝑒√𝑥

√𝑥
 𝑑𝑥 

 u) ∫
(𝑥2−4)2

2𝑥
 𝑑𝑥 t) ∫

(𝑒𝑥+1)2

𝑒𝑥  𝑑𝑥 s) ∫
3 sin 𝑥

1+2 cos 𝑥
 𝑑𝑥 

  v) ∫
𝑥2+3𝑥+1

𝑥
 𝑑𝑥 

 

 


